
CHEMISTRY

BOOKS - G.R. BATHLA & SONS CHEMISTRY (HINGLISH)

SATURATED ALIPHATIC HYDROCARBONS

Some Solved Problems

1. Why are alkanes relatively unreactive ?

View Text Solution

2. Why do the C-C bonds rather than the C-H bonds break during pyrolysis

of alkanes?

View Text Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MAjko3FnrJ9G
https://dl.doubtnut.com/l/_eA8dYuIIl0fi
https://dl.doubtnut.com/l/_dNSbLaQAPyFm


3. Methane does not react with chloride in dark . Explain by giving reason

.

View Text Solution

4. the free of burning liquid paraaffin cannot be extingushed by throwing

over this Expain by giving reaason .

View Text Solution

5. how will you obyain ? Give equations only : 

(a) methane from acetone 

(b) ethane from acetone acid . 

( c) methane and ethane from sodium acetate,

View Text Solution

https://dl.doubtnut.com/l/_dNSbLaQAPyFm
https://dl.doubtnut.com/l/_LXrRp4Vu1w9Q
https://dl.doubtnut.com/l/_uE4W5gQruyDQ


6. why is the Wurtz synthesis not a good method for preparing propane ?

View Text Solution

7. write the structural formulae and IUPAC names of the different alkanes

formed when a miture of 1-bromopropane and 2- bromopropane is

reacted with sodium in presence of ether. What is the name of the

reaction ?

View Text Solution

8. An alkane with molecular mass 72 formed only one substitution

product .Suggest a structure for the alkane .

View Text Solution

https://dl.doubtnut.com/l/_5xpo0AOL3bCi
https://dl.doubtnut.com/l/_SW3oSXCBcMKS
https://dl.doubtnut.com/l/_cj8qktarcmKa


Problems For Practice

9. Indicate the stereochemistry of the following hydrogenation reaction . 

View Text Solution

10. Prepare butane from choroethane using the corey - house synthesis .

View Text Solution

11. A sample of dieael has the same characteristics 60ml mixture of

centane and  - methyl naphthalene mixed in 2:1 ratio (V/V) . What is the

cetane number of the dieasel sample ?

View Text Solution

α

https://dl.doubtnut.com/l/_Rz7m9Ii80IFU
https://dl.doubtnut.com/l/_PUi6FgPYxw3G
https://dl.doubtnut.com/l/_16PGq52z56bG


1. what happen when : 

(a) Dry sodium propionate is heated with sodaaline ? 

( b) Electroysis of an aqueous solution of potassium acetate is done ?

( C) Ethyl iodine is treated with phosphous and hydrogen iodine ? 

( d) Electrolysis of an aqueous solution of potassium acetane is done ?,

(e) Ethyl iodine dissolved in dry ether is treated with sodium metal ?

(f) Methane is treated with iodine in presence of an oxidising agent ? 

(g) n- Hexane is treated wih  supported over alumina at 873 K? 


(h) Ethane is treated with conc , nitric acid at 723 K? 

(i) Lithium dimethyl cuprate is treated with ethyl bromide?

View Text Solution

Cr2O3

2. How will you prepare the following ? 

(a) n-Butane from ethyl bromide . 

(b) Ethane from acetic acid . 

( c) Ethane from ethane . 

(d) Methane from acetic acid .

https://dl.doubtnut.com/l/_fW2p17ZqwQM7
https://dl.doubtnut.com/l/_zPRGMpC1tPws


(e ) Ethane from methane in two steps. 

(f) Ethane from ethanol in one step, 

( g) Methyl chloride from aluminum carbide in two steps. 

(h) propane from methane .

View Text Solution

3. Complete the following reactions 

 

View Text Solution

4. Answer the following : 

(a) How many molecules of oxygen would be required for the complete

combustion of one molecule fo butane ? 

(b) How many chain isomers are possible in  ?


( c) what is the octane number of 2,2,4 - trimathylpentane ? 

(d) what is the octane number of n- hexane ? 

C5H12

https://dl.doubtnut.com/l/_zPRGMpC1tPws
https://dl.doubtnut.com/l/_mG56DC8AL0Le
https://dl.doubtnut.com/l/_gJMdDxKTYmAV


(f) Name the two methods used for the synthesis of petrol . 

(g) what is the flash point fixed in india ? 

(h) what is the name of the process in which normal alkanes are

converted into their branched chain isomers in the presence of

aluminium choride and Hcl?

View Text Solution

5. How do you account for the following ?

(a) Alkanes are account for the following ? 

(B) chorination of methane does no chemical reagents . 

( C) iodinatio of methane occurs of methane ocurs in presence of iodic

acid . 

(d) why the creacked gasoline is considered to be superior to staught

distilled gasoline 

( e) the boiling points of branched chain alkanes are lower than than

their normal isomers .

( f) Alkanes containing even number of carbon atoms have higher than

expected point . 

https://dl.doubtnut.com/l/_gJMdDxKTYmAV
https://dl.doubtnut.com/l/_iSMNLbjo5jAp


(g) Although combustion of alkanes is a strongly exo0thermic proces it

does not occur at moderate temperature 

(h) thetraethyl lead Pn  initiales the chlorination of methane in

the darlk at 423 K .

(j) why does an oil slick form on the surface of the ocean after a spill ? 

( j) A tetriary carbon atom can be oxidised with relative ease . 

(K) Out of 2-methyhexane and 2,2- dimethylbutane which one has higher

point and which one has higher boiling point?

View Text Solution

(CH2H5)4

6. Select from each of the following sets the hydrocarbons having lowest

and higher boiling point : 

(a) n- butane ,n-hexane , n-pentane 

( b) n- pentane ,n-hexane ,2,3-dimethylbutane 

( C) 3,3- dimethylpentane ,2,3-methylhexane ,n- heptane ,n- heptane

View Text Solution

https://dl.doubtnut.com/l/_iSMNLbjo5jAp
https://dl.doubtnut.com/l/_VcYJfrzXuJMX
https://dl.doubtnut.com/l/_i9muswfhRCx4


7. (i) write equations for the preparation of n- heptane 

(a) n- Butyl bromide ( B) Ethyl bromide 

( C) i- Butane ,(d) 2- butane 

(ii) which of the following reagents will react with ethane ? 

(a) Aqueous Ko ,

(b) Alkaline  , 


( C) Bromine in presence of light ,( D) Nitric acid at 723 K. 

(iii) write the strutural and IUPAC names for all the dibromo derivatives of

propane . 

( iv) write the structural formula and IUPAC names for all the trichloro

devivaties of propane ,

( v) starting with bromoethane and bromomethane , prepane propane

using the Corey -House sythesis (vi) prepane n- hexane form i-

bromopropane using the corey -House synthesis . 

(vii) prepane 2- deutero propane from isopropyl bromide .

View Text Solution

KMnO4

https://dl.doubtnut.com/l/_i9muswfhRCx4


8. (A) which is better of (i) and (ii) ?

(i)  


 

Also identift the product formed .

( B) sodium salt of which and will be needed for the perparation of

prepane ?

( C) when sulphuryl chloride  is used to chlorination of an

alkane , an Explain mechanism of chorination . 

( D) give the condensed formulae for the alkanes (i )  and (ii)

 with the greatest number of methyl groups , 

( e) place the three isomeric pentanes in order of increasing stability at

room temperature .

( F) write the structure of all tjhe alkanes that can be hydrogented to

from 2- methypentane .

(G) in the halogentation of alkanes other than methane , there is another

chain termining reaction called disproportionation write the mechanium

of this reaction for  


CH3CH2C(CH3)2Br
( i ) Li

−−−−−→
( ii ) Cul 

CH3CH2Br
−−−−−−→

(ii)CH3CH2Br
( i )Li

−−−−→
( ii ) Cul

CH3CH2C (CH3 ) 2Br

−−−−−−−−−−−−→

(SO2Cl2)

C8H18

C11H24

⋅
C2H5

https://dl.doubtnut.com/l/_7vMWOScVfx6U


(h) write the structure of an alkane ,  which gives only one

monochloro substitution product.

View Text Solution

C8H18

9. Give the total number of isomers including stereoisomers obtained on

monochlorination of isopentane .

View Text Solution

10. Which of the isomers hexane gives five monochloro derivatives when

chorinated ?

View Text Solution

11. 

View Text Solution

https://dl.doubtnut.com/l/_7vMWOScVfx6U
https://dl.doubtnut.com/l/_yUtfmQUk7lDu
https://dl.doubtnut.com/l/_psSi5UQk64yQ
https://dl.doubtnut.com/l/_ItkLNhJM1kMw


Problems Based On Structure And Properties

1. what volume of methane (NTP) is formed from 16.4 g of sodium acetane

by fucioon with sodalime ?

View Text Solution

2. If a rocket was fuelled with Kerosene and liquid oxygen , what mass of

oxygen would be requird every litre of kerosene ? 

(assume kerosene to have average compostion  the density of

ker sone is 0.764 g,/mL )

View Text Solution

C14H ) 30).

3. Write the struture of all the alkanes that can be hydrogenated to from

2- methpyloentane .

View Text Solution

https://dl.doubtnut.com/l/_YGBn42O7qlCr
https://dl.doubtnut.com/l/_ID1X9O8VTSBX
https://dl.doubtnut.com/l/_wuygTtWZUAJI


4. In the syudy of cholrinatio of propane , four products (A,B Cand D of

the formula  were isolated Each was Futher chorinated to prove

trichloro products  it was found that A provided one trichoro

Product ,B gave two and C and D each gave three whatt are the structural

formula of A, B ,C and D?

View Text Solution

C3H6Cl2

(C3H5Cl3)

5. Calculate the heat of combustion of methane at room temperature

from the given bond eneries: 

`C-H=98.7 kcal /mol 

o=O = 119.1 kcal /mol 

C=o = 192.0 kcal /mol 

o-H = 110.6 kcal /mol

View Text Solution

https://dl.doubtnut.com/l/_5U1Gw9zoq9Ip
https://dl.doubtnut.com/l/_qN0sxRPzuGJo


6. N-Butane is produced by monobromination of ethane followed by the

Wurtz reaction , calculate the volume of ethane at NTP required to

prduce 55 g n- butane ,if the brominatiin takes place with 90% yield and

the Wrtz reaction with 85% yield .

View Text Solution

7. An alkane ,  , is produced by the reaction of litthium di-(3 -pentyl )

cuprate with ethyl bromide ,. What is the structure of akane ?

View Text Solution

C7H16

8. The alkane ,(a) , on treatment with chorine give

only one monochloride ,Give the structures of each alkane and its

cholride .

View Text Solution

C5H
12 and (B)C8h18

https://dl.doubtnut.com/l/_uL15ZhhOX62k
https://dl.doubtnut.com/l/_FqtvbC5G4f36
https://dl.doubtnut.com/l/_Oa6FIeVi77EW
https://dl.doubtnut.com/l/_KEkKk3UVBnWe


9. Calclate the  H for two propagation steps in the reaction of methane

with chorine , the bond eneries for 

are respectivley 105,85,103 and 58 kcal / mol

View Text Solution

Δ

CH3 − H, CH3 − Cl, and Cl − Cl

10. The relateive reactivity of  hydrogens to cholrination is

1:3:8:5 respectivity Calculate the percentage of isomers formed during

monochlorrination of 2- methybultane.

View Text Solution

1∘ : 2∘ : 3∘

11. The relative of  hydrogen to bromination is 1:82 :1600 .

Calculate relative amount of each product on monobromination of iso-

butane .

View Text Solution

1∘ : 2∘ : 3∘

https://dl.doubtnut.com/l/_KEkKk3UVBnWe
https://dl.doubtnut.com/l/_W61LQMavXv7a
https://dl.doubtnut.com/l/_WHI5cdPbg9MT


12. (A) what are the different products obtained on insertion of n-

pentane using diazomethane ?

View Text Solution

13. Give the major products of monobromination of following compounds

. 

View Text Solution

14. Complete the following reaction : 

 

(ii)  


(iii) (A) alkane 

View Text Solution

(CH32)CHBr
( 1 )Li
−−−→
( 2 )C ̲

(A)
(CH3 ) 2CHCH2Br

−−−−−−−−−−−→ (B)

( 1 )Li

B
573K

(CH3)3CBr 1
( 2 )Cul

Li(C) (CH3 _ ( 2 )CHBr ) → (B )

https://dl.doubtnut.com/l/_ARyJv6JjvkDy
https://dl.doubtnut.com/l/_1qZ3hGE4fn0T
https://dl.doubtnut.com/l/_qNa62oYfchEa
https://dl.doubtnut.com/l/_8GUuFtqip9HR


15. (A) An alkane ,  gives two monochoro derivative give its strutuire

( B)  (A) has chrial centre , when it is hydrogented gives  (B)

in which there is no chrial centre identify (A) and (B) 

(C )  gives 2,2,5,5-tetramethylexane as maoin products on Wurtz

reaction Give the struture of 

View Text Solution

C6H14

C6H12 C6H14

C5H11Cl

C5H11Cl'

16. How many monpocarboxylic acids are possible which one

decarboxylation from iso - pentane ?

View Text Solution

17. How many monocarboxylic acids are Possible , which one

decarboxylation give neopentane ?

View Text Solution

https://dl.doubtnut.com/l/_8GUuFtqip9HR
https://dl.doubtnut.com/l/_ats1mF9Phr5h
https://dl.doubtnut.com/l/_eILLJMsfgYw3


Objective Questions Level A

18. Suggest a combination of organic halide and cuprate regent

appropriate for the prepane of each of the following compounds : 

(a) 2- methybutane (B) i- Butylcyclohexene

View Text Solution

19. Complete the following reaction : 

View Text Solution

20. Indicate the reactivity of vinylic allylic and aliphatic hydrogen in

cyclhexene.

View Text Solution

https://dl.doubtnut.com/l/_BC9LRQSA9lvR
https://dl.doubtnut.com/l/_MIRm5Yn5HlDz
https://dl.doubtnut.com/l/_SFTY1S1SL9KF
https://dl.doubtnut.com/l/_Ho6R9Tf2G0Mx


1. The name fire-damp is given to :

A. Methane

B. ethane

C. propane

D. butane

Answer: a

View Text Solution

2. Marsh gas mainly contains :

A. 

B. 

C. 

D. CO

C2H2

CH4

H2S

https://dl.doubtnut.com/l/_Ho6R9Tf2G0Mx
https://dl.doubtnut.com/l/_BVZ24lS7WUMs


Answer: B

View Text Solution

3. Both methane and ethane may be obtained by a suitable one step

reaction from :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CH3I

CH3CH2I

CH3OH

C2H5OH

4. Formation fo alkane by action of Zinc and alkyl haide called :

https://dl.doubtnut.com/l/_BVZ24lS7WUMs
https://dl.doubtnut.com/l/_I2GgaA1AiICt
https://dl.doubtnut.com/l/_VwDrkrjUiOzQ


A. Wurtz reaction

B. Frankland reaction

C. Kolbe's reaction

D. Clemmensen reaction

Answer: B

View Text Solution

5. Which one of the following has the lowest boiling point

A. 2-Methylbutane

B. 2-Methypropane

C. 2,2 Dimethylpropane

D. n- pentane

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_VwDrkrjUiOzQ
https://dl.doubtnut.com/l/_vF2sLGU92sb8


6. When water vapours are passed over aluminium carbide , we get :

A. acetaldehyde

B. ethylene

C. methane

D. methyl alcohol

Answer: C

View Text Solution

7. When eletrolysis of potassium acetate is carried out , get

A. Methane

B. ethylene

C. ethane

https://dl.doubtnut.com/l/_vF2sLGU92sb8
https://dl.doubtnut.com/l/_jhYCcRrt6wRc
https://dl.doubtnut.com/l/_6X4afXe6bhT4


D. acetylene

Answer: C

View Text Solution

8. When Grignard reagent  is treated with water , we get:

A. ethane

B. ethyl alcohol

C. methyl aclohol

D. methane

Answer: D

View Text Solution

(CH3MgBr)

https://dl.doubtnut.com/l/_6X4afXe6bhT4
https://dl.doubtnut.com/l/_i1qHrqWZP4RC


9. Action of heat on a mixture of sodium propionate and sodalime

produes :

A. Methane

B. ethane

C. propane

D. ethylene

Answer: B

View Text Solution

10. Ethane can be prepared by :

A. heating sodalime with sodium acetane

B. electrolysis of sodium succinate

C. electrolysis of sodium acetate

D. all of the above

https://dl.doubtnut.com/l/_G1xfurkN6d7x
https://dl.doubtnut.com/l/_bKxjEWUBthtR


Answer: C

View Text Solution

11. Wurtz reaction is used to prepare :

A. methane only

B. symmertrical alkaness

C. unsymmetrical alkanes

D. all of these

Answer: B

View Text Solution

12. For the conversion of  into methane , the regent used is :

A. sodium

CH3OH

https://dl.doubtnut.com/l/_bKxjEWUBthtR
https://dl.doubtnut.com/l/_FcN453ZL2tRP
https://dl.doubtnut.com/l/_F2sc8NSMkwl2


B. p and HI

C. hydrogen

D. sodium hydroxide

Answer: B

View Text Solution

13. The products formed when the mixture of methane and steam is

passed over finely divided nickel at 1273K, are :

A. 

B. CO and 

C. 

D. none of these

Answer: B

View Text Solution

CO2 and H2

H2

CH3OH and H2

https://dl.doubtnut.com/l/_F2sc8NSMkwl2
https://dl.doubtnut.com/l/_9Gwu4tpbtTMJ


14. Carbon black is obtained when methane is :

A. heated in absence of air

B. Heated in presence of nitrogen

C. heated in presence of ammonia

D. heated with steam

Answer: A

View Text Solution

15. What is the volume of oxygen required for the complete combuston of

4 litre of ethane ?

A. 4 litre

B. 8 litre

C. 12 litre

https://dl.doubtnut.com/l/_9Gwu4tpbtTMJ
https://dl.doubtnut.com/l/_g0ZSxdk4WWTb
https://dl.doubtnut.com/l/_oUcMG7daDykA


D. 14 litre

Answer: D

View Text Solution

16. Kerosence si a mixture of :

A. Aromatic hydorcarbons

B. alphatic hydrocarbons

C. saturated hydrocarbons

D. Alicylic hydrocarbons

Answer: B

View Text Solution

17. Which of the following substance is used as antiknock compound ?

https://dl.doubtnut.com/l/_oUcMG7daDykA
https://dl.doubtnut.com/l/_aASSSKCUVSjr
https://dl.doubtnut.com/l/_AMMPhu9WSZg6


A. TEL

B. Lead trtrachloride

C. Lead acetate

D. 

Answer: A

View Text Solution

C2H5PbCl

18. Which branched chain isomer of the hydrocarbon with molecular mass

720 gives only one isomer of monosubtitued alkyl halide ?

A. Neopentane

B. Isohexane

C. Neohexane

D. Teritiary butyl choride

Answer: A

https://dl.doubtnut.com/l/_AMMPhu9WSZg6
https://dl.doubtnut.com/l/_C0jKZR1h9KOV


View Text Solution

19. The knocking will be mainmum when the mixture of fuel is :

A. Stright chained

B. iso-carbonation

C. neo-carbonation

D. none of these

Answer: C

View Text Solution

20. Petroleum is a mixture of :

A. alkanes

B. cycloalkanes

C. aromatic hyrocarbons

https://dl.doubtnut.com/l/_C0jKZR1h9KOV
https://dl.doubtnut.com/l/_YwVYZKBHDwTP
https://dl.doubtnut.com/l/_D0f1T7x8qUkM


D. all of these

Answer: D

View Text Solution

21. Iso-octane is added to petrol :

A. to precipitate inorganic material

B. to prevent freezing of petrol

C. to increase the boiling point

D. as an amntikocking agent

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_D0f1T7x8qUkM
https://dl.doubtnut.com/l/_HZYOawrqZeRz


22. The fraction obtained between temperatures 423-573 K during

fractional distillation of crude petroleum is :

A. paraffin wax

B. heavy oil

C. kerosene

D. naphtha

Answer: C

View Text Solution

23. Hydrogenation of coal is done for the production of synthetic petrol

in :

A. sabatier process

B. Bergius process

C. cracking proess

https://dl.doubtnut.com/l/_l0DPe8cWDgcx
https://dl.doubtnut.com/l/_zk2iGGZXE0g2


D. nene of these

Answer: B

View Text Solution

24. The number of chain isomers of alkane containing carbon atoms is :

A. 3

B. 4

C. 5

D. 6

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_zk2iGGZXE0g2
https://dl.doubtnut.com/l/_ggjeABRVbRWw


25. The compressed gas aviailable in cooking gas cylinders is a mixture of

:

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

C6H6 + C6H5CH3

C2H4 + C2H2

C2H4 + CH4

C4H10 + C3H8

26. By Wurtz reaction , a mixture of methyl iodine and ethyl iondine gives

:

A. Propane

B. ethane

C. butane

https://dl.doubtnut.com/l/_ImLVSOvpnUYE
https://dl.doubtnut.com/l/_scwkNc3DIJdw


D. a mixtue of the above three

Answer: D

View Text Solution

27.  


the appoximate ratio of percentage yields of ( A) and (B) formed in the

above reaction is :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

CH3CH2CH2

Cl2
−−→
hv

(A) + (B)
( Monochlorination  products )

60: 40

50: 50

45: 55

28: 72

https://dl.doubtnut.com/l/_scwkNc3DIJdw
https://dl.doubtnut.com/l/_9pBrvbvN4JGY
https://dl.doubtnut.com/l/_mlhDM1koNW5T


28. Reaction of R '- OH with R' - Mg X produces :

A. R-H

B. R'-H

C. R-R

D. R'-R'

Answer: B

View Text Solution

29. It is necessary to use ……………. In the iodination of alkane .

A. alcohol

B. oxidising agent

C. benzene

D. reducing agent

https://dl.doubtnut.com/l/_mlhDM1koNW5T
https://dl.doubtnut.com/l/_7weMf3q7MkbF


Answer: B

View Text Solution

30. The reaction conditions leading to best yields of  are :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

C2H5Cl

C2H6(excess) + Cl2
UV light 
−−−−−→

C2H6 + Cl2 Dark
room temp.

C2H6 + Cl2(excess)
UV light 
−−−−−→

C2H6 + Cl2
UV light 
−−−−−→

31. A mixture of  and  on passing over heated copper gives :

A. methane

CS2 H2S

https://dl.doubtnut.com/l/_7weMf3q7MkbF
https://dl.doubtnut.com/l/_2GA7ZdRtAhEz
https://dl.doubtnut.com/l/_20tqYAHyMAaK


B. ethane

C. complex mixture

D. propane

Answer: A

View Text Solution

32. For the preparation of alkanes ,a saturated solution sodium or

potassium salt of carboxylic acid is subjected to :

A. hydrolysis

B. oxidation

C. hydrogenation

D. electrolysis

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_20tqYAHyMAaK
https://dl.doubtnut.com/l/_8DSt2ezJLa5d


33. The gas supplied in cylinders for cooking is :

A. March gas

B. LPG

C. Mixture of 

D. Mixture of ethane and propane

Answer: B

View Text Solution

CH4 and C2H6

34. Tthe thermal decompostion of alkanes is known as :

A. cracking

B. isomerisation

C. dehydration

D. reformaing

https://dl.doubtnut.com/l/_8DSt2ezJLa5d
https://dl.doubtnut.com/l/_ywS8CTfmvlyU
https://dl.doubtnut.com/l/_lxClRcl4osie


Answer: A

View Text Solution

35. Which of the following is not prepared by Kolbe's electrolytic process?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

C3H8

C2H6

c4H10

C6H14

36. When n- hexane is passed over  at 873 K ………. Is formed

.

Cr2O3 /Al2O3

https://dl.doubtnut.com/l/_lxClRcl4osie
https://dl.doubtnut.com/l/_O0y29fMCK3Nl
https://dl.doubtnut.com/l/_QNhW0R7l5AsG


A. hexane

B. hexyne

C. benzene

D. I-Hexene

Answer: C

View Text Solution

37. Ehich of the following compounds has been given an octane number

of 100 ?

A. n- Hexane

B. Iso - Octane

C. Neopantane

D. NEO - Octane

Answer: B

https://dl.doubtnut.com/l/_QNhW0R7l5AsG
https://dl.doubtnut.com/l/_wJ2NIrA7KEon


View Text Solution

38. The number of diferent substiution products possible when bromine

and ethane are allowed to react , is :

A. 6

B. 8

C. 7

D. 9

Answer: D

View Text Solution

39. The regents and conditons to convert methyl iodide to methane are :

A. action of dry 

B. KCN followed by refluxing with dil HCI

Ag2O

https://dl.doubtnut.com/l/_wJ2NIrA7KEon
https://dl.doubtnut.com/l/_2Aoln2msfGjw
https://dl.doubtnut.com/l/_5wmfEVhOYqRl


C. aqueous NaOH followed by boiling  at 640K

D. Mg in dry ether followed by boiling with water

Answer: D

View Text Solution

Al2O3

40. A gaseous hydrocarbon 'X' on reaction with bromine in light forms a

mixture of two monobromo alkanes and . The hydrocarbon 'X' is :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

HBr

C2H6

C3H6

C3H8

C4H10

https://dl.doubtnut.com/l/_5wmfEVhOYqRl
https://dl.doubtnut.com/l/_pfTOwtoLD7Yp
https://dl.doubtnut.com/l/_PokIWZoqHMhb


41. Which of the following is not linked with methane ?

A. Marsh gas

B. Natural gas

C. Producer gas

D. coal gas

Answer: C

View Text Solution

42. The reaction 

 


is called :

A. Wutrz's reaction

B. Kolbe 's synthesis

C. Sabatier and senderen 's reaction

H2C = CH2 + H2

Ni
−−−−−−→
523 − 573K

CH3 − CH3

https://dl.doubtnut.com/l/_PokIWZoqHMhb
https://dl.doubtnut.com/l/_sboiQxIoTNpQ


D. Carbylamine reaction

Answer: C

View Text Solution

43. Paraffin wax is :

A. ester

B. alcohol

C. unsaturated hydrocarbons

D. saturated hydrocarbons

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_sboiQxIoTNpQ
https://dl.doubtnut.com/l/_MlaJ4nPmVpIO


44. Octane number fo gasoline can be increased by addition of BTX.BTX

stands for :

A. butane , tetraethyl lead and xylene

B. butane , tetremethyl lead and xylene

C. benzane , tetrathy lead and xy lene

D. benzane , tetraehtyl lead and xy lene

Answer: C

View Text Solution

45. he flash point in india is fixed at :

A. 317K

B. 308K

C. 295.8K

D. 303K

https://dl.doubtnut.com/l/_16myfuR7ItOK
https://dl.doubtnut.com/l/_R2FrH5GFqHl8


Answer: A

View Text Solution

46. potochemical chlorination of alkane is initiated by process of :

A. pyrolysis

B. substitution

C. homolysis

D. peroxidation

Answer: C

View Text Solution

47. Zinc - copper couple that be used as a reducing agent is obtained by :

A. mixing zinc dust and copper

https://dl.doubtnut.com/l/_R2FrH5GFqHl8
https://dl.doubtnut.com/l/_sp64aESxRyWv
https://dl.doubtnut.com/l/_KSPxMblkNOTa


B. zinc coated with copper

C. copper coated with zinc

D. zinc and copper wires welded together

Answer: B

View Text Solution

48. 2.84 g of methyl iodine was competely converted into methyl

magnesium iodine and the product was decomposed by excess of ethanol

,the volume the gaseous hydrocarbion produced at NTP will be :

A. 22.4 litre

B. 22400 mL

C. 0.448 litre

D. 0.224 litre

Answer: C

https://dl.doubtnut.com/l/_KSPxMblkNOTa
https://dl.doubtnut.com/l/_rJeKDR3wmHTF


View Text Solution

49. Decarboxylation of isobutyric acid gives n - alkane but reducation of

isobutyric acid with phsphorus and hydrogen iodine gives :

A. n- propane

B. isombutane

C. n- butane

D. none of these

Answer: B

View Text Solution

50. Correct IUPAC name obtained in the reaction of 2- chloropropane +

sodium and dry ether is :

A. 2,3 dimethybutane

https://dl.doubtnut.com/l/_rJeKDR3wmHTF
https://dl.doubtnut.com/l/_I4OXEbQCGhht
https://dl.doubtnut.com/l/_4kj5OaN6fxQq


B. 2-isopropylpropane

C. n- hexane

D. none of these

Answer: A

View Text Solution

51. The IUPAC name of nec - pentane is :

A. 2,-methylbutane

B. 2,2 dimethylbutane

C. 2- methypropane

D. 2,2 - dimehtypropane

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_4kj5OaN6fxQq
https://dl.doubtnut.com/l/_fqJBCHgea9E9
https://dl.doubtnut.com/l/_jNZrAmuKfzPf


52. n the complete combustion of  the number of oxygen moles

required is :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

cnH2n+ 2,

n

2O2

( )O2

n + 1

2

( )O2

3n + 1

2

( )O2

n + 2

2

53. Which of the following isomers of the pentane gives four

monocloropentane on chlorination ?

A. n- pentane

B. isopantane

C. neopantane

https://dl.doubtnut.com/l/_jNZrAmuKfzPf
https://dl.doubtnut.com/l/_F2ICDGNgxfJD


D. 2,2 Dimethylpropane

Answer: B

View Text Solution

54. Number of di - substitiuted isomers of the product of the reaction ,

 would be :

A. 2

B. 1

C. 3

D. 4

Answer: D

View Text Solution

CH3CH2CH3 + Br2

https://dl.doubtnut.com/l/_F2ICDGNgxfJD
https://dl.doubtnut.com/l/_Sn0W30PJa0uw


55. Aqueous solution of sodium acetane and sodium propionate on

electrolysis yields :

A. ehtane

B. butane

C. propane

D. all of these

Answer: D

View Text Solution

56. What is the maximum number of carbon atoms in the expected

products of the Wurtz reaction ? 

A. 8

B. 6

CH3 − CH2Br and
Na+dry  ether↓

products

CH3 − C
∣

CH3

H − CH2Br

https://dl.doubtnut.com/l/_t0ABxyv2IWuW
https://dl.doubtnut.com/l/_pag3aucpbxAl


C. 4

D. 2

Answer: A

View Text Solution

57. The reactivity of hydrogen atoms attached to carbon atom in an

alkane has the order .

A. tertiary gt primary gt secondary

B. secondry gt primary gt tertiary

C. tertiary ? Secondary gt tertiary

D. primary gt secodary gt tertiary

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_pag3aucpbxAl
https://dl.doubtnut.com/l/_5AlOB8CCwz0f
https://dl.doubtnut.com/l/_WsyvDgVHVVkS


58. Grignard regent gives alkane with :

A. 

B. 

C. 

D. all of these

Answer: D

View Text Solution

H2O

C2H5OH

C2H5NH2

59. A fual has the same knocking property as a mixture of 70% iso -

octane (2,2,4 -trimethylpentane ) and 30% n- heptane by volume , the

octane number of a fuel is :

A. 70

B. 40

C. 100

https://dl.doubtnut.com/l/_WsyvDgVHVVkS
https://dl.doubtnut.com/l/_BgQN0QNcVKFK


D. 50

Answer: A

View Text Solution

60. Kolbe 's synthesis of sodium salt of butane acid gives :

A. n- Hexane

B. iso-butane

C. n- butane

D. propane

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_BgQN0QNcVKFK
https://dl.doubtnut.com/l/_rEr2iklAKdSj


61. The function of sodium ( a mixture of solid NaOH and solid CaO ) in

the decoboxylation reaction is :

A. to increase the rate of reaction

B. to decrease the rate of reaction

C. to increase the rate of reaction

D. none is correct

Answer: B

View Text Solution

62. Which of the following is the correct sequence of step in the

halogation of an alkane ?

A. propagation , intiation , termination

B. intitation , temination , propagation

C. initation ,propagation , temination

https://dl.doubtnut.com/l/_TV2syH9lvb0p
https://dl.doubtnut.com/l/_epHpJNPfc7Xn


D. propagation , temnation , initiation

Answer: C

View Text Solution

63. An alkane with the formula  can be prepared by the

hydrohengation of only two alkanes  IUPAC name of the alkane is

:

A. 2,2-dimehtylbutane

B. 2,3 - dimethylbutane

C. 2- methylpentane

D. n- hexane

Answer: B

View Text Solution

C6H14

(C6H12)

https://dl.doubtnut.com/l/_epHpJNPfc7Xn
https://dl.doubtnut.com/l/_EdcBQVs75aId
https://dl.doubtnut.com/l/_0mkDIcMdfvjb


64. Fisher - Tropsch process is used in the manfacture of :

A. ethane

B. benzene

C. synthetic petrol

D. LPG

Answer: C

View Text Solution

65. A hydrocarbon with formula  gives one monochloro derivative ,

the hydrocarbon is:

A. n- octane

B. 2- methylheptane

C. 2,2,4- trimethypentane

D. 2,2,3,3- tetramehtybutane

C8H12

https://dl.doubtnut.com/l/_0mkDIcMdfvjb
https://dl.doubtnut.com/l/_Bcr7fGoNeff9


Answer: D

View Text Solution

66. Which of the following alkanes can be synthesised in good yield by the

Wurtz reaction ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(CH3)2CH − CH2 − CH(H3)2

(CH3)2CH − CH2CH2 − CH(CH3)2

CH3CH2 − C − (CH3)2 − CH2CH3

(CH3)3C − CH2 − CH2 − CH3

67. The order of appearance of the following with increaseing

temperature suring refining of crude oil is :

https://dl.doubtnut.com/l/_Bcr7fGoNeff9
https://dl.doubtnut.com/l/_2hraImtEtfRF
https://dl.doubtnut.com/l/_nwJ8AprwNI9B


A. kerosene, gasoline , diesel

B. diesel, gasoline , kerosne

C. gasoline , kerosene,diesel

D. gaoline , diesl , kerosene

Answer: C

View Text Solution

68. Which of the following fractions of potroleum has the lowest boiling

point ?

A. Gasoline

B. Kerosene

C. Diesel oil

D. Heavy oil

Answer: A

https://dl.doubtnut.com/l/_nwJ8AprwNI9B
https://dl.doubtnut.com/l/_FbaNfSgrZETl


View Text Solution

69. Isobutyl magnesium bromide with dry ether and absolute aochol gives

:

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(CH3)2CH − CH2Oh and CH3CH2MgBr

(CH3)2CH − CH2CH2 and Mg(OH)Br

(CH3)2CH2, H2C = CH2 and Mg(OH)Br

(CH3)3CH and CH3CH2OMMgBr

70. Which of the following is not a greemn house gas ?

A. Nitrogen

B. Carbonoixide

https://dl.doubtnut.com/l/_FbaNfSgrZETl
https://dl.doubtnut.com/l/_1daQ6OyA9GLN
https://dl.doubtnut.com/l/_FjD1cmxA3QH3


C. Ozone

D. Mehtane

Answer: A

View Text Solution

71. N- Heptane on heating to 773 K at 10-20 atm presure in the presence

of a

A. benzene

B. 2- heptene

C. toluene

D. cycloheptane

Answer: C

View Text Solution

V2O5

https://dl.doubtnut.com/l/_FjD1cmxA3QH3
https://dl.doubtnut.com/l/_i5kfD4PIOpf5
https://dl.doubtnut.com/l/_5IUsvfzuXS4d


72. Butane can be converted into 2- methylpropane if heated with :

A. 

B. 

C. 

D. Na / ether

Answer: A

View Text Solution

Al2Cl6

Cr2O3

CrO2Cl2

73. Percentage of hydrogen is maximum n :

A. 

B. 

C. 

D. 

C2H2

C2H4

C2H6

CH4

https://dl.doubtnut.com/l/_5IUsvfzuXS4d
https://dl.doubtnut.com/l/_9lQH04DxirIO


Answer: D

View Text Solution

74. Domestic cooking gas consists of moslty:

A. methane and ethane

B. liquefied butane and iso - butane

C. ehtaylene and carbon monoxide

D. hydrogen and acetylene

Answer: B

View Text Solution

75. An alkane with a molcular formula ,  reacts with clorine in the

presence of light and head and heat to give two constitionally  .

What is the most resonbale starting alkane ?

C6H14

C6H13Cl

https://dl.doubtnut.com/l/_9lQH04DxirIO
https://dl.doubtnut.com/l/_k3sI7ucxaqep
https://dl.doubtnut.com/l/_XDuxVNfu3IHA


A. n- Hexane

B. 2,2 Dimehtylbutane

C. 2,3 Dimehtybutane

D. 3- Methypentane

Answer: C

View Text Solution

76. Liquid hydrocarbons is converted into a mixture of gaseous

hydrocarbon by :

A. cracking

B. hydrolysis

C. Oxidation

D. Distillation

Answer: A

https://dl.doubtnut.com/l/_XDuxVNfu3IHA
https://dl.doubtnut.com/l/_Dll7o2eHTQkC


View Text Solution

77. The complete combustion of  gives :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

CH4

CO + H2

CO + N2

CO + N2O

CO2 + H2O

78. How many types of carbon atoms are present in 2,2,3 -

trimethylpentane ?

A. one

B. two

https://dl.doubtnut.com/l/_Dll7o2eHTQkC
https://dl.doubtnut.com/l/_xHCDW5Nh6gD7
https://dl.doubtnut.com/l/_ZXZGLvLTwHIC


C. three

D. four

Answer: D

View Text Solution

79. Which one of the following is called Raney's Nickel ?

A. Nickel in free state of Division

B. nickel -aluminum alloy

C. Nickel - Aluminalloy alloy

D. Nickel - aluminum alloy

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_ZXZGLvLTwHIC
https://dl.doubtnut.com/l/_EELNvTEfHGfu


80. Finely divided platinum and palladium comonly known as platinum

and palladium black , may be reducing their soluble salts with :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

H2O

C2H5IOH

HCHO

C6H6

81. Aluminium amalgam used as a reducing agent ,is obtained by :

A. Dipping aluminium foil in mercuric chloride solution

B. Mixing aluminium nitrate with mercury

C. mixing aluminium nitrate with mercuric oxide

D. adding mercurry to aluminium chloride solution

https://dl.doubtnut.com/l/_Y3ZP3yW9kQ4B
https://dl.doubtnut.com/l/_FHBnp95XXasZ


Answer: A

View Text Solution

82. Adm 's catalyst is :

A. platinum metal

B. palladium

C. nickel metal

D. 

Answer: D

View Text Solution

PtO2

83. A gas believed to be the cause of explosion in coal mines is :

A. CH4

https://dl.doubtnut.com/l/_FHBnp95XXasZ
https://dl.doubtnut.com/l/_RDNdf6qq17bQ
https://dl.doubtnut.com/l/_wx9aTVrgFQyy


B. 

C. 

D. 

Answer: A

View Text Solution

C2H6

CH3H8

C4H +10

84. When propanaal os heated with An-Hg and cnc. HCl , which is formed ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C3H4

C3H8

C3H7Cl

C3H7Cl

https://dl.doubtnut.com/l/_wx9aTVrgFQyy
https://dl.doubtnut.com/l/_KBxBWVJjnORL
https://dl.doubtnut.com/l/_wL7lle2Ap86M


85. Catalytic reduction of water gas gives :

A. Acetylene

B. ehtylene

C. ethane

D. methane

Answer: D

View Text Solution

86. The number of enantiomeric paris that can be product during

monochlorination Of 2- mehtybutane is :

A. 2

B. 3

C. 4

D. 1

https://dl.doubtnut.com/l/_wL7lle2Ap86M
https://dl.doubtnut.com/l/_eMLr91eUo4a7


Answer: A

View Text Solution

87.  on reaction with  produces:

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(CH3)3C − MgCl D2O

(CH3)3CD

(CH3)3OD

(CD3)3CD

(CD3)3OD

88. The most stable conformation of n- butane is :

A. skew boat

https://dl.doubtnut.com/l/_eMLr91eUo4a7
https://dl.doubtnut.com/l/_asYByCYxYQxr
https://dl.doubtnut.com/l/_wfQpptiCYCN9


B. Gauche

C. staggered anti

D. eclipsed

Answer: C

View Text Solution

89. Which of the followeing reactions is expected to readily give a

hyrocarbon product in good yield?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(CH3)3C − Cl
C2H5OH
−−−−→

ROOCK
Electrolysis
−−−−−−→

CH3 − CH3

Cl2
−−→
hv

RCOOAg
Br2

−−→

https://dl.doubtnut.com/l/_wfQpptiCYCN9
https://dl.doubtnut.com/l/_4Sv3lVFboxHc


90. octane number is zero for :

A. iso-heptane

B. n-heptane

C. iso-octane

D. n- octane

Answer: B

View Text Solution

91. Main constituent (S) LPG is / are :

A. methane

B.  iso - butane

C. iso-butane , produce

D. none of these

H2, CH4

https://dl.doubtnut.com/l/_4Sv3lVFboxHc
https://dl.doubtnut.com/l/_OydjrBALXfye
https://dl.doubtnut.com/l/_vZvzeHfBPx5u


Answer: C

View Text Solution

92. Connsider the following reaction , 

 


identify the struture fo major product X:

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

CH3 − C
∣

D

H − C
∣

CH3

H3 +
⋅
Br → X + HBr

CH3 − CH
∣

D

− CH
∣

CH3

− CH3

CH3 − CH
∣

D

−
⋅
C
∣

CH3

− CH3

CH3 −
⋅

−
∣

D

CH
∣

CH3

− CH3

CH3 −
⋅

CH − CH
∣

CH3

− CH3

https://dl.doubtnut.com/l/_vZvzeHfBPx5u
https://dl.doubtnut.com/l/_oWqRe3PFOHLq


93. Which hydrocarbon is mainly present in gobar gas ?

A. Butane

B. Proane

C. Methane

D. Ethane

Answer: C

View Text Solution

94. On mixing certain alkane with chlorine and irradiating it with

Ultravioet light , it forms only one monochloro alkane . 

the alkane xould be :

A. Propane

B. Pentane

C. Isopentane

https://dl.doubtnut.com/l/_itHogshjONVV
https://dl.doubtnut.com/l/_XPvWZtlNTVxi


D. Neopentane

Answer: D

View Text Solution

95. Which one of the following is reduced with Zinc and hydrochloric acid

to give the corresponding hydrocarbon ?

A. Ehtayl acetate

B. Acetic acid

C. Acetamide

D. butan -2- one

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_XPvWZtlNTVxi
https://dl.doubtnut.com/l/_EA0psFneAywb


96. A petroleum fraction having boiling range  and

containing 6-10 carbon atoms per molecule is called :

A. narural gas

B. gas oil

C. gasoline

D. Kerosene

Answer: C

View Text Solution

70 − 200∘C

97. The compound which do not have any primary hydrogen atoms is :

A. butane

B. isobutane

C. cyclohexane

D. 2,3 - dimethybutane

https://dl.doubtnut.com/l/_wTd1LBefonDn
https://dl.doubtnut.com/l/_QOLQc6BiMl1T


Answer: C

View Text Solution

98. Octane number can be changed by :

A. isomerisation

B. alkylation

C. cyclisation

D. all of these

Answer: D

View Text Solution

99. Which of the following yields both alkane and alkene ?

A. Kolbe's reaction

https://dl.doubtnut.com/l/_QOLQc6BiMl1T
https://dl.doubtnut.com/l/_fHZUcRgqZvRN
https://dl.doubtnut.com/l/_ZuKp6mgdmjrC


B. Williamson 's synthesis

C. Wurtz reaction

D. Sandmeyer's reaction

Answer: A

View Text Solution

100. 2- methylbutane on reaction with bromine in the presence of

sunlight gives mainly :

A. 1- bromo-2-methylbutane

B. 2- bromo-2-methylbutane

C. 2-bromo-3- methylbutane

D. 1-bromo-3- methylbutane

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_ZuKp6mgdmjrC
https://dl.doubtnut.com/l/_D5a5ZidwxjMc


101. Which of the following reactions will not give propane ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

CH3CH2CH2Cl
Mg / ether
−−−−−→

H2O

CH3 − CH
∣

OH

− CH3

p /HI

−−→

CH3 − HC = CH2
B2H6

−−−−−−→
CH3COOH

CH3COCl
CH3MgX
−−−−−→

H2O

102. Of the five isomeric hexane , the isomer which can give two

monochlorinated compounds is :

A. n- hexane

B. 2,3 -dimethylbutane

C. 2,2- dimethylbutane

https://dl.doubtnut.com/l/_D5a5ZidwxjMc
https://dl.doubtnut.com/l/_FM29G768n5Fg
https://dl.doubtnut.com/l/_K2cgbp67FdNP


D. 2- methylpentane

Answer: B

View Text Solution

103. X is heated with sodalime and gives ethane X is :

A. ethanoic acid

B. methanoic acid

C. propanoic acid

D. ether (a) or ( c)

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_K2cgbp67FdNP
https://dl.doubtnut.com/l/_y10UjBUFfhoJ


104. In order ot get propane gas , which of the following should be

subjected to sodalime decarboxylation ?

A. Sodium formate

B. Mixture of sodium acetate and sodium ehtanoate

C. Sodium butyrate

D. Sodium propionnate

Answer: C

View Text Solution

105. Methyl bromide is converted into ethane by heating it in ether

medium with :

A. Al

B. Zn

C. Na

https://dl.doubtnut.com/l/_oEef4gKVwylZ
https://dl.doubtnut.com/l/_iAxRJueVvAn2


D. Cu

Answer: C

View Text Solution

106. Petroleum is obtained form water gas name of the reaction involved

is :

A. Fischer -Tropsch

B. Begius

C. Dow's

D. Kjeldahl's

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_iAxRJueVvAn2
https://dl.doubtnut.com/l/_AC0RL1Kq9nT3


107. When  reacts with  then :

A.  is formed

B. hydrocarbon is formed

C. acetone is formed

D. alcohol of formed

Answer: B

View Text Solution

CH3COOH CH3Mgx,

CH3COX

108. which of the following liberates methane on treatment with water ?

A. Silicon caride

B. Calsium carbide

C. Beryllium carbide

D. Magnesim carbide

https://dl.doubtnut.com/l/_xZR7sK6XWgMz
https://dl.doubtnut.com/l/_VJzrPQnY9efI


Answer: C

View Text Solution

109. The geometry of methane molecule is :

A. tetrahedral

B. pyramidal

C. octanhedral

D. square planer

Answer: A

View Text Solution

110. Alkyl halides react with Diakyl copper reagents to give :

A. alkenyl haides

https://dl.doubtnut.com/l/_VJzrPQnY9efI
https://dl.doubtnut.com/l/_joirEdMwr1ZG
https://dl.doubtnut.com/l/_b3XsZoEvAzpc


B. alkanes

C. alkyl copper halides

D. alkanes

Answer: B

View Text Solution

111. Which of the following isomeric heptanes can yield seven differnet

monochlorinated products upon free radical chorination ?

A. 2,3 Dimethypentane

B. 2,2-Dimehtylpentane

C. 3- methylhexane

D. 2- methylhexane

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_b3XsZoEvAzpc
https://dl.doubtnut.com/l/_1jWnKEuEozD9


112. Which of the following has highest knocking propery ?

A. aromatic hydrocarbons

B. Olefins

C. Breanched chain paraffins

D. staight chain paraffins

Answer: D

View Text Solution

113. Octane number can be changed by :

A. Isomerisation

B. alkylaton

C. cyclisation

D. all of these

https://dl.doubtnut.com/l/_1jWnKEuEozD9
https://dl.doubtnut.com/l/_DepiK8a9g3MM
https://dl.doubtnut.com/l/_WjSEvEknG6XU


Answer: D

View Text Solution

114. Which of the following has lowest octane number ?

A. n-Hexadecane

B. Iso- octane

C. n- Hexane

D. n- Heptane

Answer: A

View Text Solution

115. The treatment of  with  produces :

A. 

CH3MgX CH3 − C ≡ C − − H

CH4

https://dl.doubtnut.com/l/_WjSEvEknG6XU
https://dl.doubtnut.com/l/_YOLtAAL1xvvs
https://dl.doubtnut.com/l/_0Di2vP8brY4Q


B. 

C. 

D. 

Answer: A

View Text Solution

CH3HC = CH2

CH3 − C ≡ C − CH3

CH3Hc = CHCH3

116. ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

CH3CH3 + HNO3

675K
−−→

CH3CH2NO2

CH3CH2NO2

2CH3NO2

H2C = CH2

https://dl.doubtnut.com/l/_0Di2vP8brY4Q
https://dl.doubtnut.com/l/_bH8yjaCndvk5
https://dl.doubtnut.com/l/_1JMmnNZ2EHTa


117. Mehtane can be converted into ethane by the reaction :

A. chlorination floowed by the reaction with alocholic KOH

B. chlorination followed by the reaction with aqueous KOH

C. chlorination followed by Wurtz reaction

D. chlorination followed by Decarboxylation

Answer: C

View Text Solution

118. 2- Methyl propane on monochlorination under phtochemical

condition give :

A. 2-choro-2-Methylpropane as major product

B. (1:) mixture of 1- chloro-2-methypropane 2-chloro-2-mehtylprorpane

C. 1-chloro-2-methylpropane

D. (1:9) mixture fo 1- chloro-2- methylpropane

https://dl.doubtnut.com/l/_1JMmnNZ2EHTa
https://dl.doubtnut.com/l/_el7OO4TuaoJf


Answer: C

View Text Solution

119. The best methoud for the preparation of 2,2 -dimehtylbutane is via

the reaction of :

A.  in Na/ ether

B. 

C. 

D. 

Answer: B

View Text Solution

e3VBr and MeVH2BR

(Me3C)2CULi and MeCH2Br

(MeCH2)2CULi and Me3CBr

Me3CMgl and MeCH2I

120. When n- hexane is heated with anhyrous  gas , the

major product obtsined is :

AlCl3 and Hcl

https://dl.doubtnut.com/l/_el7OO4TuaoJf
https://dl.doubtnut.com/l/_7Hy9hywuOwO5
https://dl.doubtnut.com/l/_Ct9pp4kx9CWO


A. 1- chlorohexane

B. 2- chlorohexane

C. 3-chlorohexane

D. Mixture of 2- methypentane and 3- methylpetane

Answer: D

View Text Solution

121. How many monochloro strutural isomers are expected in free radical

monochloronation of 2- methybutane ?

A. 2

B. 3

C. 4

D. 5

Answer: C

https://dl.doubtnut.com/l/_Ct9pp4kx9CWO
https://dl.doubtnut.com/l/_WtpMwu40wawu


Objective Questions Level B

View Text Solution

122. The total number of monohalogenated products formed by

halogenation of 2,4-4 trimethylhexane is :

A. 8

B. 7

C. 6

D. 5

Answer: C

View Text Solution

1. Methane can be prepared by :

https://dl.doubtnut.com/l/_WtpMwu40wawu
https://dl.doubtnut.com/l/_1sdS9rrcnEip
https://dl.doubtnut.com/l/_nugCh1J4eHCO


A. witting reaction

B. Wurtz method

C. Kolbe's method

D. Decarboxylation

Answer: D

View Text Solution

2. Amtch List I with List I and select the correct answer from the given

codes 

A. 

B. 

C. 

List I List II

Reaction Metals used 

A. Wurtz reaction 1.Ni

B.Sabatier  senderen's reaction 2. Zn

c.  Frankland reaction e. Li

D.  Corey -House  synthesis 4. Na

A B C D

1 2 3 4

A B C D

4 1 2 3

A B C D

3 2 4 1

https://dl.doubtnut.com/l/_nugCh1J4eHCO
https://dl.doubtnut.com/l/_YFspTGqH9GUl


D. 

Answer: B

View Text Solution

A B C D

2 4 2 3

3. Which of the following compouns will give the maxmum yield of alkane

on hydrogenation ?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

H2C = CH2

CH3 − CH = CH2

https://dl.doubtnut.com/l/_YFspTGqH9GUl
https://dl.doubtnut.com/l/_IRv1m6tfNY36


4. If a mixture of methane , ammonia and oxygen is passed over Pt -

gauge at 973K then the products will be :

A. 

B. 

C. 

D. all of these

Answer: B

View Text Solution

HCOOH

HCN

CH3NH2

5. Which of the following alkanes is affected by  ?

A. 

B. 

C. 

D.  (n- butane )

AlCl3

CH4

C2H6

C3H8

C4H10

https://dl.doubtnut.com/l/_SFfn68FD8fWg
https://dl.doubtnut.com/l/_FjNxuMkF5VIr


Answer: D

View Text Solution

6. Which of the following cannot be considered as a mechanstic step in

cahain reaction of methane with  ?

A. 

B. 

C. 

D. ?

Answer: B

View Text Solution

Cl2

Cl2 → Cl*

CH4 + Cl* → CH3Cl + H *

Cl* + CH(4) → CH *
3 + HCl.

Cl* + CH *
3 → CH + (3)Cl

7. The nitration of which of the following alkanes will give the maximum

number of products ?

https://dl.doubtnut.com/l/_FjNxuMkF5VIr
https://dl.doubtnut.com/l/_NbIncR9i7ZDH
https://dl.doubtnut.com/l/_9UteY8QpBSPk


A. propane

B. Neopentane

C. Ethane

D. Methane

Answer: A

View Text Solution

8. Which among the following reacgents convert alkyl halids into alkane ?

A. 

B. NA ..dry ether

C. 

D. all of these

Answer: D

View Text Solution

Bu3SnH

R2CuLi

https://dl.doubtnut.com/l/_9UteY8QpBSPk
https://dl.doubtnut.com/l/_5ZIey6kSxFGf


9. Which among the following genera (plants ) is the future source of

hydrocarbons ?

A. Cassia

B. Accasia

C. Euphoribia

D. Thia

Answer: C

View Text Solution

10. Antiknoking agent used for unleaded gasoline is :

A. BXT

B. TBA

C. MTBE

https://dl.doubtnut.com/l/_5ZIey6kSxFGf
https://dl.doubtnut.com/l/_vKSwqCUFCo7K
https://dl.doubtnut.com/l/_WoElCGzNUN3i


D. all of these

Answer: D

View Text Solution

11. By which of the following reagents , butanoic acid can be converted

into butane ?

A. Red p/HI

B. NaOh/CaO

C. 

D. All of these

Answer: A

View Text Solution

CH3MGBr

https://dl.doubtnut.com/l/_WoElCGzNUN3i
https://dl.doubtnut.com/l/_NhXn6cfxzE9T


12. Which among the following is known as silman regent ?

A. 

B. Lil

C. Cul

D. Li

Answer: A

View Text Solution

R2CULi

13. Which among the following carbides on hydrolysis give alkane ?

A. 

B. 

C. 

D. Sic

Al4C3

CaC2

BE2C

https://dl.doubtnut.com/l/_IylJdDK4sPHo
https://dl.doubtnut.com/l/_O1WTyCTy7mSR


Answer: A

View Text Solution

14. Methane cannot be synthesised by which of the following methods ?

A. Wurtz reaction

B. Kilbe's reaction

C. Corey-House synthesis

D. All of the above

Answer: D

View Text Solution

15. In the given reaction , 

 


X will be :

CH3 −

O

∣ ∣

C − C2H5

[x ]
−−→ CH3 − CH2 − C2H5

https://dl.doubtnut.com/l/_O1WTyCTy7mSR
https://dl.doubtnut.com/l/_1BQdqF9Bc1jj
https://dl.doubtnut.com/l/_ELNHLVC0qYos


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

LiAIH4

NaBH4

BU3SNH

NH2 − NH2 /OH −

16. What will be the least molecular mass of an alkane which is optically

active ?

A. 70

B. 80

C. 90

D. 100

Answer: D

https://dl.doubtnut.com/l/_ELNHLVC0qYos
https://dl.doubtnut.com/l/_DhmycVKe6NQD


View Text Solution

17. Chloronation of propane is carried out in the presence of sunliht ,The

% yield major and minor alkyl halides will be :

A. 90%,8%

B. 70%.30%

C. 80%,20%

D. 86%,14%

Answer: A

View Text Solution

18. The hight boiling point is expected for :

A. iso-octane

B. n- octane

https://dl.doubtnut.com/l/_DhmycVKe6NQD
https://dl.doubtnut.com/l/_6cW6BKqRU7tE
https://dl.doubtnut.com/l/_uHOuWQVVh8rJ


C. 2,2,3,3-tetramethylbutane

D. n- pentane

Answer: B

View Text Solution

19. Tetraehtyl lead (TEL) in petrol was used as antinocking agent ,which

creates lead pollution in order to avoid lead pollution the substitue of

TEL is used in unleaded -petrol the . Subsitiute is denoted as :

A. AK-33-X

B. BK-33-K

C. CK-33-X

D. DK-33-X

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_uHOuWQVVh8rJ
https://dl.doubtnut.com/l/_uphx9w7L1izj


20. IIf an alkane has number of carbon atoms equal ton, then the number

of moles of oxygen required for its complete combustion is :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

3n + 1

2

2n

n

2

(2n + 1)

21. The compound that will react most readily with gaseous bromine has

the formula :

A. 

B. 

C4H10

C3H6

https://dl.doubtnut.com/l/_uphx9w7L1izj
https://dl.doubtnut.com/l/_Hi2zZcnDEWAL
https://dl.doubtnut.com/l/_9HnKjUrPtam5


C. 

D. 

Answer: A

View Text Solution

C2H4

C2H2

22. An alkane with even number of carbon only, can result in :

A. Sagatier senderens reaction

B. Wurtz reaction

C. Kolbe's electrolytic reaction

D. Grignard reaction

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_9HnKjUrPtam5
https://dl.doubtnut.com/l/_dxnBBuOEf7NR


23. N- Hexane can be convererted to benzene by the treatment with :

A. alk.

B. 

C. 

D. 

Answer: C

View Text Solution

KMnO4

alc. KOH

Cr2Oat770K

LiAiH4

24. An unknown carboxylic of their salt on kolbe's electronlysis form

cyclobutane , the caboxylic acid can be :

A. adipic acid

B. Hexanoic acid

C. succinic acid

D. fumaric acid

https://dl.doubtnut.com/l/_sNsiuwxZVI1P
https://dl.doubtnut.com/l/_XzCl6KEAjxfo


Answer: A

View Text Solution

25. Pertrol is a mixture hydrocabons from  the quality of petrol

is determinded in terms of octane number ,The higher the octane

number better is the quality of fuel . The correct order of octane number

is :

A. cycloalknes lt alkanes ltalkanes lt aromatic hydrocarbons

B. alkanes lt aromatic hydrocarbons lt cycloalkanes

C. alkanes ltaromatic hydrocarbons lt cycloalkanes ltalkanes

D. alkanes ltalkanes lt cycloalkanes lt aromatic hydrocarbons

Answer: D

View Text Solution

C6to C5

https://dl.doubtnut.com/l/_XzCl6KEAjxfo
https://dl.doubtnut.com/l/_YG6pcYMINCMs


Set Ii

1. Which of the following cannot be prepared by the Wurtz reaction ?

A. 

B. 

C. 

D. 

Answer: B,C

View Text Solution

CH3 − CH3

CH3 − C
∣

CH3

H − CH3

(CH3)2CHCH3

CH3CH2CH2CH3

2. Select th correct statements among the following

A. Methane is present in the atmoshere of jupiter

B. in Fischer -Tropsch process ,alkane is synthsised liquefaction of coal

C. Methane on pyrolysis give carbon black

https://dl.doubtnut.com/l/_xEQUaxiaDzJE
https://dl.doubtnut.com/l/_JwGXGb5BTKzM


D. pyroducts obtained in the reaction ,

Answer: A,B,C

View Text Solution

3. The products obtained in the reacton , 

 


is / are :

A. 

B. 

C. 

D. 

Answer: A,C

View Text Solution

C6H5CH2 − CH3

Cl2liv
−−→
273K

C6H5CHCl − CH3

C6H5CH2 − CH2Cl

C6H5CCl2 − CH3

C6H5CHClCH2cl

https://dl.doubtnut.com/l/_JwGXGb5BTKzM
https://dl.doubtnut.com/l/_YsWGK3jxhnct
https://dl.doubtnut.com/l/_wvxE3BGJ0UM3


4. A compound has molecule mass 42. it should be :

A. Propane

B. cycloprpane

C. Propene

D. butane

Answer: B,C

View Text Solution

5. Which of the following can be used prepare methane by its action with

water ?

A. Aluminium carbide

B. Beryllium carbide

C. Calcium carbide

D. Silicon carbide

https://dl.doubtnut.com/l/_wvxE3BGJ0UM3
https://dl.doubtnut.com/l/_5o6XH60mOpZy


Answer: A,B

View Text Solution

6. Methane can be prepaed by :

A. alkyl magnesium bromide

B. Wurtz reaction

C. decarboxylation

D. Friedel - Crafts reaction

Answer: A,C

View Text Solution

7. Kolbe 's eletrolytic method can be applied on :

A. CH3COONa

https://dl.doubtnut.com/l/_5o6XH60mOpZy
https://dl.doubtnut.com/l/_00kpejMVjx9E
https://dl.doubtnut.com/l/_EBBLv2utZCgR


B. 

C. 

D. 

Answer: A,B,C

View Text Solution

(CH2COOK), ( ∣ ), (CH2COOK)

HC − COOK

 ∣∣

HC − COOK

C6H5COONa

8. Both methane and ethane may be obtained by one step reacton form :

A. 

B. 

C. 

D. 

Answer: A,B

View Text Solution

CH3I

CH3COOK

H2C = CH2

CH2MgBr

https://dl.doubtnut.com/l/_EBBLv2utZCgR
https://dl.doubtnut.com/l/_zeVV9h05ZtWS


9. Grignard reagent gives alkane with :

A. 

B. 

C. 

D. 

Answer: A,B,C,D

View Text Solution

C2H5OH

HOH

NH3

C2H5NH2

10.  are:

A. and methane

B. and ethylene

C.  and Propylene

D. Methane and ethylene

CH3CH2CH3

673 − 873K
−−−−−−→ X + YX and Y

H2

H2

H2

https://dl.doubtnut.com/l/_5XnUOF9sgflp
https://dl.doubtnut.com/l/_mSouTDFmuPeN


Assertion Reason Type Question

Answer: C,D

View Text Solution

11. On mixing a certain alkane with cholrine and irradating it with

ultraviolet light it forms two monochloo derivatives . 

the alkane could be :

A. Propane

B. pentane

C. iso-butane

D. neopentane

Answer: A,C

View Text Solution

https://dl.doubtnut.com/l/_mSouTDFmuPeN
https://dl.doubtnut.com/l/_sAFimVik02XK
https://dl.doubtnut.com/l/_LWqat7LppYIQ


1. (A) corey -House reactin can be used to prepane both symmertrical and

asymmertrical alkane . 

( r) the reaction involves the interaction between lithium dialkycopper

with an alkyl halide both of which may contains even or odd number of

carbon atoms

A. if both (A) and (R ) are correct and ( R) is the correct explanation of

the (A)

B. if both (A) and (R ) are correct but ( R) is not the correct explnation

of the (A)

C. if (A) is correct but ( R) is incorrect

D. is (A) in incorrect but ( R) is correct

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_LWqat7LppYIQ


2. (A) the octane number of branched chain hydrocarbon is higher than

that of unbranched chain hydrocarbon .

( R) the branched chain hydrocarbons are more volatile as compared to

unbrached chain hydrocarbons .

A. if both (A) and (R ) are correct and ( R) is the correct explanation of

the (A)

B. if both (A) and (R ) are correct but ( R) is not the correct explanation

of the (A)

C. if (A) is correct but ( R) is incorrect

D. is (A) in incorrect but ( R) is correct

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_m9Fw3e6bmJfu


3. (A) the boiling point of n- alkanes increase with increase in number of

carbon atoms, 

(R ) Van der Waals force of attraction increase with increase in number of

carbon and molcular mass .

A. if both (A) and (R ) are correct and ( R) is the correct explanation of

the (A)

B. if both (A) and (R ) are correct but ( R) is not the correct explanation

of the (A)

C. if (A) is correct but ( R) is incorrect

D. is (A) in incorrect but ( R) is correct

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_573weF3Daa4z


4. (A) in creaking of akances C-C bond is broken but not C-H bond 

(R ) Bond energy fo c-C bond is less than C-H bond .

A. if both (A) and (R ) are correct and ( R) is the correct explanation of

the (A)

B. if both (A) and (R ) are correct but ( R) is not the correct explanation

of the (A)

C. if (A) is correct but ( R) is incorrect

D. is (A) in incorrect but ( R) is correct

Answer: A

View Text Solution

5. (A) Melting point fo neo pentane is greater than that of n- pentane but

the boiling point of n- pentane is more than that of neo pentane .

https://dl.doubtnut.com/l/_Tyd4UrzQ54tM
https://dl.doubtnut.com/l/_Autc76wfBTAw


(R ) Melting point depends upon packing in crystal littice whereas

booiling point depends upon surface area of the molecule .

A. if both (A) and (R ) are correct and ( R) is the correct explanation of

the (A)

B. if both (A) and (R ) are correct but ( R) is not the correct explanation

of the (A)

C. if (A) is correct but ( R) is incorrect

D. is (A) in incorrect but ( R) is correct

Answer: A

View Text Solution

6. (A) Fuel inn aeroplane has a high percentage fo highly branched chain

alkanes . 

(R ) Octane number of branched alkanes is less than that of straight

number alaknes .

https://dl.doubtnut.com/l/_Autc76wfBTAw
https://dl.doubtnut.com/l/_OY5pyPa4vfKP


A. if both (A) and (R ) are correct and ( R) is the correct explanation of

the (A)

B. if both (A) and (R ) are correct but ( R) is not the correct explanation

of the (A)

C. if (A) is correct but ( R) is incorrect

D. is (A) in incorrect but ( R) is correct

Answer: C

View Text Solution

7. (A) Propene and cyclopropane both give addition reactions only .

(R ) propane and cyclopropane are chain isomer.

A. if both (A) and (R ) are correct and ( R) is the correct explanation of

the (A)

https://dl.doubtnut.com/l/_OY5pyPa4vfKP
https://dl.doubtnut.com/l/_wFSEJAjNdbTC


Matrix Matchtype Questions

B. if both (A) and (R ) are correct but ( R) is not the correct explanation

of the (A)

C. if (A) is correct but ( R) is incorrect

D. is (A) in incorrect but ( R) is correct

Answer: B

View Text Solution

1. Match the following 

View Text Solution

Column I Column II

(compound) (monohalohenated  product)

(A) 2-Methybutane (p)1

(b) 2-3- dimethylbutane (q)2

(C) 2-Methypropane (r)3

(d) Toluane (s)4

(t)optically active product  

https://dl.doubtnut.com/l/_wFSEJAjNdbTC
https://dl.doubtnut.com/l/_s0Folc1uIGNP


Passage

2. Match the following 

View Text Solution

Column I Column II

(A) C8H18(n-octane) (p)Require 25/2mole of 

oxygen for combustion 

of a mole

(b) C8H18(iso-octane) (q)Highest boiling  point 

(C) C8H18(2,2,3,3-Tetra) (r)Lowest  boiling  point 

(d) Hexadecane (Cetane) (s)Grading the  diesel oils 

1. Adolf von Beeyer suggested that ,since carbon prefers to have tetradral

geometrv wih bond angles of approximately ring sizes other than

five and six may be too strained to exist ,Baeyer based his hypothesis on

the simple geometrical nation that a three -membered ring (

cyclopropane ) should be an equilatera triangle with bond angles to 

a four membered ring (cyclobutane) should be a square with bond angles

of  and so on . According to Beayer's analysis cyclopropane, with a

bond able compression of  , should have a large

109∘

60∘

90∘

109∘ − 60∘ = 49∘

https://dl.doubtnut.com/l/_OPNTvHuT2rxy
https://dl.doubtnut.com/l/_XFpFfaClaKr7


amount of angle strain and must therefore be highly reactive cyclohexane

becomes puckered to reeve its strain the angular deviation of cycloalkane

is  , Greater is the angular deviation more is the torsinal strain . 


which of the following is most reactive cycloalkane ?

A. cyclopropane

B. cyclobutane

C. cyclopentane

D. cyclohexane

Answer: A

View Text Solution

( − 11∘ )

2. Adolf von Beeyer suggested that ,since carbon prefers to have tetradral

geometrv wih bond angles of approximately ring sizes other than

five and six may be too strained to exist ,Baeyer based his hypothesis on

the simple geometrical nation that a three -membered ring (

cyclopropane ) should be an equilatera triangle with bond angles to 

109∘

60∘

https://dl.doubtnut.com/l/_XFpFfaClaKr7
https://dl.doubtnut.com/l/_HIpXtABQXDI4


a four membered ring (cyclobutane) should be a square with bond angles

of  and so on . According to Beayer's analysis cyclopropane, with a

bond able compression of  , should have a large

amount of angle strain and must therefore be highly reactive cyclohexane

becomes puckered to reeve its strain the angular deviation of cycloalkane

is  , Greater is the angular deviation more is the torsinal strain . 


which among the following is most strained cyclobalkane ?

A. cyclopropane

B. cyclobutane

C. cyclopentane

D. cyclohexane

Answer: A

View Text Solution

90∘

109∘ − 60∘ = 49∘

( − 11∘ )

3. Adolf von Beeyer suggested that ,since carbon prefers to have tetradral

geometrv wih bond angles of approximately ring sizes other than109∘

https://dl.doubtnut.com/l/_HIpXtABQXDI4
https://dl.doubtnut.com/l/_ayoFKkCOZkpa


five and six may be too strained to exist ,Baeyer based his hypothesis on

the simple geometrical nation that a three -membered ring (

cyclopropane ) should be an equilatera triangle with bond angles to 

a four membered ring (cyclobutane) should be a square with bond angles

of  and so on . According to Beayer's analysis cyclopropane, with a

bond able compression of  , should have a large

amount of angle strain and must therefore be highly reactive cyclohexane

becomes puckered to reeve its strain the angular deviation of cycloalkane

is  , Greater is the angular deviation more is the torsinal strain . 


the tendency of Cyclopropropane (i) cyclobutane (ii) and cyclopentane (iii)

to firm addition compounds is in the order:

A. IgtIIgtIII

B. I=IIgtIII

C. IgtII=III

D. I=IIIgtI

Answer: A

View Text Solution

60∘

90∘

109∘ − 60∘ = 49∘

( − 11∘ )

https://dl.doubtnut.com/l/_ayoFKkCOZkpa


4. Adolf von Beeyer suggested that ,since carbon prefers to have tetradral

geometrv wih bond angles of approximately ring sizes other than

five and six may be too strained to exist ,Baeyer based his hypothesis on

the simple geometrical nation that a three -membered ring (

cyclopropane ) should be an equilatera triangle with bond angles to 

a four membered ring (cyclobutane) should be a square with bond angles

of  and so on . According to Beayer's analysis cyclopropane, with a

bond able compression of  , should have a large

amount of angle strain and must therefore be highly reactive cyclohexane

becomes puckered to reeve its strain the angular deviation of cycloalkane

is  , Greater is the angular deviation more is the torsinal strain . 


which among the following has greastest bond angle ?

A. cyclobutane

B. cyclopentane

C. cyclopentane

D. cyclopropane

109∘

60∘

90∘

109∘ − 60∘ = 49∘

( − 11∘ )

https://dl.doubtnut.com/l/_ayoFKkCOZkpa
https://dl.doubtnut.com/l/_IyBQtDzW2rBG


Answer: D

View Text Solution

5. Adolf von Beeyer suggested that ,since carbon prefers to have tetradral

geometrv wih bond angles of approximately ring sizes other than

five and six may be too strained to exist ,Baeyer based his hypothesis on

the simple geometrical nation that a three -membered ring (

cyclopropane ) should be an equilatera triangle with bond angles to 

a four membered ring (cyclobutane) should be a square with bond angles

of  and so on . According to Beayer's analysis cyclopropane, with a

bond able compression of  , should have a large

amount of angle strain and must therefore be highly reactive cyclohexane

becomes puckered to reeve its strain the angular deviation of cycloalkane

is  , Greater is the angular deviation more is the torsinal strain . 


which of the following cycloalkane has zero strain energy ?

A. cyclobutane

B. cyclopentane

109∘

60∘

90∘

109∘ − 60∘ = 49∘

( − 11∘ )

https://dl.doubtnut.com/l/_IyBQtDzW2rBG
https://dl.doubtnut.com/l/_hLVzzfxxZQZH


C. cyclohexane

D. cyclopropane

Answer: C

View Text Solution

6. Wurtz reaction involes the condensation of two molecules of alkyl

halides in the presence of sodium and dry ether .




in this reaction small amount of alkena is also formed as byproduct.




 

Tertiary alkyl halides do not give Wurtz reactio .Frankland reaction is

similar but has certain advantages over Wurtz reaction it is useful in the

synthesis of symmetrical alkanes Franlkans reaction is shown by primary ,

secondary as well as tertiary alkyl haidle. 

which of the following alkanes is not obtained from Wurtz reaction ?

R − X + 2Na + X − R
dry Ether
−−−−−→ R − R + 2NaX

CH3CH2 + CH3CH2Br
Na/dry Ether 
−−−−−−−−→

CH3 − CH2 − CH2 − CH3 + H2C = CH2 + CH3 − CH3


byproducts

https://dl.doubtnut.com/l/_hLVzzfxxZQZH
https://dl.doubtnut.com/l/_BVLzxb47SjUu


A. Mehtane

B. Ethane

C. Propane

D. Butane

Answer: A

View Text Solution

7. Wurtz reaction involes the condensation of two molecules of alkyl

halides in the presence of sodium and dry ether .




in this reaction small amount of alkena is also formed as byproduct.




 

Tertiary alkyl halides do not give Wurtz reactio .Frankland reaction is

similar but has certain advantages over Wurtz reaction it is useful in the

synthesis of symmetrical alkanes Franlkans reaction is shown by primary ,

R − X + 2Na + X − R
dry Ether
−−−−−→ R − R + 2NaX

CH3CH2 + CH3CH2Br
Na/dry Ether 
−−−−−−−−→

CH3 − CH2 − CH2 − CH3 + H2C = CH2 + CH3 − CH3


byproducts

https://dl.doubtnut.com/l/_BVLzxb47SjUu
https://dl.doubtnut.com/l/_7Tjc49CQXBX0


secondary as well as tertiary alkyl haidle. 

Disproritionation takes place in :

A. Wurtz reaction

B. Frankland reaction

C. both of these

D. none of these

Answer: A

View Text Solution

8. Wurtz reaction involes the condensation of two molecules of alkyl

halides in the presence of sodium and dry ether .




in this reaction small amount of alkena is also formed as byproduct.




 

R − X + 2Na + X − R
dry Ether
−−−−−→ R − R + 2NaX

CH3CH2 + CH3CH2Br
Na/dry Ether 
−−−−−−−−→

CH3 − CH2 − CH2 − CH3 + H2C = CH2 + CH3 − CH3


byproducts

https://dl.doubtnut.com/l/_7Tjc49CQXBX0
https://dl.doubtnut.com/l/_WaC25ceN4YXC


Tertiary alkyl halides do not give Wurtz reactio .Frankland reaction is

similar but has certain advantages over Wurtz reaction it is useful in the

synthesis of symmetrical alkanes Franlkans reaction is shown by primary ,

secondary as well as tertiary alkyl haidle. 

which among the following compounts will give Wurtz reaction ?

A. 

B. 

C. 

D. none of these

Answer: C

View Text Solution

CH2 = CH − Br

C6H5 − Br

H2C = CH2 − Br

9. Wurtz reaction involes the condensation of two molecules of alkyl

halides in the presence of sodium and dry ether .




in this reaction small amount of alkena is also formed as byproduct.

R − X + 2Na + X − R
dry Ether
−−−−−→ R − R + 2NaX

https://dl.doubtnut.com/l/_WaC25ceN4YXC
https://dl.doubtnut.com/l/_K2JaXdNACoJ4





 

Tertiary alkyl halides do not give Wurtz reactio .Frankland reaction is

similar but has certain advantages over Wurtz reaction it is useful in the

synthesis of symmetrical alkanes Franlkans reaction is shown by primary ,

secondary as well as tertiary alkyl haidle. 

A mixture of ethyl iodine and methyl iodine is subjected to the Wurtz

reaction ,the products formed are :

A. ethane

B. butane

C. propane

D. 2- methylpropane

Answer: A,B,C

View Text Solution

CH3CH2 + CH3CH2Br
Na/dry Ether 
−−−−−−−−→

CH3 − CH2 − CH2 − CH3 + H2C = CH2 + CH3 − CH3


byproducts

https://dl.doubtnut.com/l/_K2JaXdNACoJ4


10. Wurtz reaction involes the condensation of two molecules of alkyl

halides in the presence of sodium and dry ether .




in this reaction small amount of alkena is also formed as byproduct.




 

Tertiary alkyl halides do not give Wurtz reactio .Frankland reaction is

similar but has certain advantages over Wurtz reaction it is useful in the

synthesis of symmetrical alkanes Franlkans reaction is shown by primary ,

secondary as well as tertiary alkyl haidle. 

which of the following compounds cannot be prepared by Wurtz reaction

?

A. ethane

B. Iso-butane

C. n- Butane

D. neopentane

R − X + 2Na + X − R
dry Ether
−−−−−→ R − R + 2NaX

CH3CH2 + CH3CH2Br
Na/dry Ether 
−−−−−−−−→

CH3 − CH2 − CH2 − CH3 + H2C = CH2 + CH3 − CH3


byproducts

https://dl.doubtnut.com/l/_EBllddPLWzO9


Answer: B,D

View Text Solution

11. Gasoline infact is a poor fuel for internal combustion engine. When

such fuels are used in an engine, combustion can be inititated before tha

spark plug fires. This produces 'Knocking ' or or 'Pinging ' in the running

engine. The quality of fuel is indicated by its octane number . Straight

chain hydrocarbons have low octane number . A scale was set up to

evaluate this important knock property of gasoline. Iso-octane ,an

excellent fuel with a highly branched structure, was arbitrarrily given a

rating ( octane number =100 ), n- Heptane being a poor fuel was given the

octane number of zero. 

The octane number of gasoline can also be increased by the addition of

other compounds besides the tetraethyl lead (TEL) which is a pollutant.

The compond used in asoline to improve its quality or octane number are

: 

BTX: Benzene Toluene Xylene 

TBA= Tertiary Butyl Alcohol 

https://dl.doubtnut.com/l/_EBllddPLWzO9
https://dl.doubtnut.com/l/_ss1ysJ5tlKIF


MTBE: Methyl Tertiary Butyl Alcohol 

Quality of diesel fuel is measured in terms of cetane number . Cetane

compound is already given 100 cetane number whereas -methyl

nepthalene is given the centane number zero . 

Answer the following question : 

what is the IUPAC name of the compound having octane number equal to

100?

A. n- Heptane

B. 2,2,4-Trimethylpentane

C. ,2,2,3 -Trimethylhaptae

D. 2,2,4,4-Tertramethylbutane

Answer: B

View Text Solution

α

12. Gasoline infact is a poor fuel for internal combustion engine. When

such fuels are used in an engine, combustion can be inititated before tha

https://dl.doubtnut.com/l/_ss1ysJ5tlKIF
https://dl.doubtnut.com/l/_lAswKtCGhmJX


spark plug fires. This produces 'Knocking ' or or 'Pinging ' in the running

engine. The quality of fuel is indicated by its octane number . Straight

chain hydrocarbons have low octane number . A scale was set up to

evaluate this important knock property of gasoline. Iso-octane ,an

excellent fuel with a highly branched structure, was arbitrarrily given a

rating ( octane number =100 ), n- Heptane being a poor fuel was given the

octane number of zero. 

The octane number of gasoline can also be increased by the addition of

other compounds besides the tetraethyl lead (TEL) which is a pollutant.

The compond used in asoline to improve its quality or octane number are

: 

BTX: Benzene Toluene Xylene 

TBA= Tertiary Butyl Alcohol 

MTBE: Methyl Tertiary Butyl Alcohol 

Quality of diesel fuel is measured in terms of cetane number . Cetane

compound is already given 100 cetane number whereas -methyl

nepthalene is given the centane number zero . 

Answer the following question : 

select the correct statements among the following :

α

https://dl.doubtnut.com/l/_lAswKtCGhmJX


A. Cetane number is assigned for diesal Fuel

B. cetane number is assigned for Kerosene oil

C. greater is the centane number more efficient is the fuel

D. centane number and octane number are same .

Answer: A,C

View Text Solution

13. Gasoline infact is a poor fuel for internal combustion engine. When

such fuels are used in an engine, combustion can be inititated before tha

spark plug fires. This produces 'Knocking ' or or 'Pinging ' in the running

engine. The quality of fuel is indicated by its octane number . Straight

chain hydrocarbons have low octane number . A scale was set up to

evaluate this important knock property of gasoline. Iso-octane ,an

excellent fuel with a highly branched structure, was arbitrarrily given a

rating ( octane number =100 ), n- Heptane being a poor fuel was given the

octane number of zero. 

https://dl.doubtnut.com/l/_lAswKtCGhmJX
https://dl.doubtnut.com/l/_wVrhYbNs92X2


The octane number of gasoline can also be increased by the addition of

other compounds besides the tetraethyl lead (TEL) which is a pollutant.

The compond used in asoline to improve its quality or octane number are

: 

BTX: Benzene Toluene Xylene 

TBA= Tertiary Butyl Alcohol 

MTBE: Methyl Tertiary Butyl Alcohol 

Quality of diesel fuel is measured in terms of cetane number . Cetane

compound is already given 100 cetane number whereas -methyl

nepthalene is given the centane number zero . 

Answer the following question : 

Hexadecane is commonly called :

A. Octane

B. centane

C. gasohol

D. natalite

Answer: B

α

https://dl.doubtnut.com/l/_wVrhYbNs92X2


View Text Solution

14. Gasoline infact is a poor fuel for internal combustion engine. When

such fuels are used in an engine, combustion can be inititated before tha

spark plug fires. This produces 'Knocking ' or or 'Pinging ' in the running

engine. The quality of fuel is indicated by its octane number . Straight

chain hydrocarbons have low octane number . A scale was set up to

evaluate this important knock property of gasoline. Iso-octane ,an

excellent fuel with a highly branched structure, was arbitrarrily given a

rating ( octane number =100 ), n- Heptane being a poor fuel was given the

octane number of zero. 

The octane number of gasoline can also be increased by the addition of

other compounds besides the tetraethyl lead (TEL) which is a pollutant.

The compond used in asoline to improve its quality or octane number are

: 

BTX: Benzene Toluene Xylene 

TBA= Tertiary Butyl Alcohol 

MTBE: Methyl Tertiary Butyl Alcohol 

Quality of diesel fuel is measured in terms of cetane number . Cetane

https://dl.doubtnut.com/l/_wVrhYbNs92X2
https://dl.doubtnut.com/l/_1cigCQyUgWgy


compound is already given 100 cetane number whereas -methyl

nepthalene is given the centane number zero . 

Answer the following question : 

Octane number fo regular gasoline is 87. It has same knoking propeartay

as:

A. A mixture containing 87% iso -octane and 13% heptane

B. a mixture containing 13% iso - octane and 87% heptane

C. 87 g iso - octane dissolved in 1 litre alcohol

D. 13 g iso - octane dissolved in 1 litre water

Answer: A

View Text Solution

α

15. Gasoline infact is a poor fuel for internal combustion engine. When

such fuels are used in an engine, combustion can be inititated before tha

spark plug fires. This produces 'Knocking ' or or 'Pinging ' in the running

engine. The quality of fuel is indicated by its octane number . Straight

https://dl.doubtnut.com/l/_1cigCQyUgWgy
https://dl.doubtnut.com/l/_oTZkXLn9yJtn


chain hydrocarbons have low octane number . A scale was set up to

evaluate this important knock property of gasoline. Iso-octane ,an

excellent fuel with a highly branched structure, was arbitrarrily given a

rating ( octane number =100 ), n- Heptane being a poor fuel was given the

octane number of zero. 

The octane number of gasoline can also be increased by the addition of

other compounds besides the tetraethyl lead (TEL) which is a pollutant.

The compond used in asoline to improve its quality or octane number are

: 

BTX: Benzene Toluene Xylene 

TBA= Tertiary Butyl Alcohol 

MTBE: Methyl Tertiary Butyl Alcohol 

Quality of diesel fuel is measured in terms of cetane number . Cetane

compound is already given 100 cetane number whereas -methyl

nepthalene is given the centane number zero . 

Answer the following question : 

select the correct statement anout the efficiencyof gasoline :

A. branched alklanes are better fuel than stright chain alkane

α

https://dl.doubtnut.com/l/_oTZkXLn9yJtn


B. lesser is the octane number greater is the efficiency of fuel

C. high quality fuel has greater klnoking property

D. All of the above

Answer: A

View Text Solution

16. 15 mL gaseous hydrocarbon (A) was required for complete combustion

357 ml of air (21% oxygen by volume ) and gaseous produects occupied

327 ml (all volume geing mesured at STP ).  


( number of isomers including stereiosmers ) 

 


( number of isomers incuding stereoisomrs )

the molecular formula of the hydrocarbon (A) is :

A. 

B. 

(A) −−−−−−−−−−−→
Cl2 .hv

( monochlorination )

(B)

(A) and (B)
Cl2hv

−−−−−−−−−→
(dichlorination )

(C)

C2H6

C2H4

https://dl.doubtnut.com/l/_oTZkXLn9yJtn
https://dl.doubtnut.com/l/_4Ch0S5SSFKS4


C. 

D. 

Answer: D

View Text Solution

C3H6

C3H8

17. 15 mL gaseous hydrocarbon (A) was required for complete combustion

357 ml of air (21% oxygen by volume ) and gaseous produects occupied

327 ml (all volume geing mesured at STP ).  


( number of isomers including stereiosmers ) 

 


( number of isomers incuding stereoisomrs )

the number of isomers of (b) is :

A. 2

B. 3

C. 4

(A) −−−−−−−−−−−→
Cl2 .hv

( monochlorination )

(B)

(A) and (B)
Cl2hv

−−−−−−−−−→
(dichlorination )

(C)

https://dl.doubtnut.com/l/_4Ch0S5SSFKS4
https://dl.doubtnut.com/l/_EmsALGRZCR0u


D. 5

Answer: A

View Text Solution

18. 15 mL gaseous hydrocarbon (A) was required for complete combustion

357 ml of air (21% oxygen by volume ) and gaseous produects occupied

327 ml (all volume geing mesured at STP ).  


( number of isomers including stereiosmers ) 

 


( number of isomers incuding stereoisomrs )

the number fo isomers of ( c) is "

A. 2

B. 3

C. 4

D. 5

(A) −−−−−−−−−−−→
Cl2 .hv

( monochlorination )

(B)

(A) and (B)
Cl2hv

−−−−−−−−−→
(dichlorination )

(C)

https://dl.doubtnut.com/l/_EmsALGRZCR0u
https://dl.doubtnut.com/l/_cceoW9ka1Gvj


Answer: D

View Text Solution

19. 15 mL gaseous hydrocarbon (A) was required for complete combustion

357 ml of air (21% oxygen by volume ) and gaseous produects occupied

327 ml (all volume geing mesured at STP ).  


( number of isomers including stereiosmers ) 

 


( number of isomers incuding stereoisomrs )

which of ( C) on reaction with Na or mg will give cyclopropane ?

A. 

B. 

C. 

D. 

Answer: A

(A) −−−−−−−−−−−→
Cl2 .hv

( monochlorination )

(B)

(A) and (B)
Cl2hv

−−−−−−−−−→
(dichlorination )

(C)

https://dl.doubtnut.com/l/_cceoW9ka1Gvj
https://dl.doubtnut.com/l/_VS3u8GCEPtkI


View Text Solution

20. 15 mL gaseous hydrocarbon (A) was required for complete

combustion 357 ml of air (21% oxygen by volume ) and gaseous produects

occupied 327 ml (all volume geing mesured at STP ).

 


( number of isomers including stereiosmers ) 

 


( number of isomers incuding stereoisomrs )

which isomer of ( C) on reaction with diethylmalonate (DEM) will give

cyclobutane derivative ?

A. 

B. 

C. 

D. 

Answer: A

(A) −−−−−−−−−−−→
Cl2 .hv

( monochlorination )

(B)

(A) and (B)
Cl2hv

−−−−−−−−−→
(dichlorination )

(C)

https://dl.doubtnut.com/l/_VS3u8GCEPtkI
https://dl.doubtnut.com/l/_JMeKThk5W1lm


Single Integer Answer Type Questions

View Text Solution

1. Find out number of dimerize products obtained by the following

reaction . 

?

View Text Solution

H3C − Cl + H3C − CH2 − Cl + H3C − CH2 − CH2 − CH2Cl
Na

−−−−−→
(dry ether)

2. How many different acyclic isomers of  on catalytic hydrogenation

give the same n- pentane ?

View Text Solution

C5H8

https://dl.doubtnut.com/l/_JMeKThk5W1lm
https://dl.doubtnut.com/l/_gHwfCZPrMew2
https://dl.doubtnut.com/l/_SVDZKjTVR66u


3. How many different acyclic isomers of  on hydrogenation with

 give the same 3- methylpentane ?

View Text Solution

C6H12

H2 /Ni

4. How many positional isomers would result on dichlorination of 2,4 -

dimethylpentane ?

View Text Solution

5. How many monochlorinated products are possible for the free radical

chorination of 2,2- dimethylbuttane ?

View Text Solution

6. How many monochoro structural isomers are expected in free radical

monochlorination of 2- methylbutane ?

https://dl.doubtnut.com/l/_qLMUj93RJJjY
https://dl.doubtnut.com/l/_WSZ8mBN815Nh
https://dl.doubtnut.com/l/_kNRjTqG2WvwS
https://dl.doubtnut.com/l/_ZsmVoV7693t9


View Text Solution

7. Find out the total number of isomers including stereoisomers obtined

by dichlorination of propane .

View Text Solution

https://dl.doubtnut.com/l/_ZsmVoV7693t9
https://dl.doubtnut.com/l/_ipclgdiMlRNg

